R2.8.1 Bl SramEEAnR S sl R

JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER] AR SR ] A ERH &EH (H) | (&)
fxel 47,211 109, 396] 53, 415] 55, 981 65 12 -9 71 80 21 380] 359 0 128 128
HI—TH 688 1,441 709 732 1 —4 -3 0 3 -3 1 4 2 3 1
FL T H 549 1,318 664 654 -4 -11 0 1 1 -9 0 9 -2 0 2
LI =TH 460] 1,029 496 533 2 2 0 0 0 -2 0 2 4 5 1
SLlAEH 1,697 3,788] 1,869| 1,919 -1 -13 -3 1 4l -14 1 15 4 8 4
Sk —TH 490l 1,001 470 531 0 -1 -1 0 1 0 2 2 0 0 0
. = 772 1,807 872 935 2 -3 -2 0 2 -2 4 6 1 1 0
SR —TH 558 1,332 640 692 2 7 2 3 1 3 6 3 2 4 2
S AT H 372 913 437 476 0 0 0 0 0 0 1 1 0 0 0
Sk BT H 582l 1,282 624 658 1 0 1 3 2 —4 5 9 3 4 1
BN T B 222 485 226 259 1 1 -1 0 1 1 1 0 1 1 0
ARt TH 632 1,628 799 829 -3 -1 0 2 2 -1 3 4 0 1 1
oA\ T H 394 889 436 453 -2 -3 0 0 0 0 2 2 -3 0 3
IV B 599 1,414 706 708 -1 -8 —4 1 5 -2 1 3 -2 2 4
B ndaatl 4,621 10,751 5,210 5,541 0 -8 -5 9 14 -5 25 30 2 13 11
e n—1H 342 811 407 404 -3 -5 0 1 1 -2 5 7 -3 0 3
HeEr R _ T H 952/l 1,983 978 1,005 6 3 -1 1 2 3 4 1 1 4 3
HHk o —TH 679 1,432 698 734 0 -3 -2 0 2 0 3 3 -1 0 1
Wk A AErl 1,973l 4,226] 2,083] 2,143 3 -5 -3 2 5 1 12 11 -3 4 7
Mt A — T H 582 1,258 626 632 2 1 1 2 1 0 4 4 0 0 0
ek R _TH 366 918 473 445 0 1 0 0 0 -2 0 2 3 3 0
Mk R =TH 242 523 262 261 —4 -9 -2 0 2 -1 1 2 -6 0 6
ik L G| 512|l 1,278 651 627 -2 -2 0 1 1 -2 0 2 0 0 0
msEr aaEtl 1,702( 3,977 2,012 1,965 —4 -9 -1 3 4 -5 5 10 -3 3 6
TEIT) 364 996 441 555 4 9 0 0 0 5 8 3 4 5 1
HOEEN— T H 181 422 202 220 4 3 -1 0 1 4 5 1 0 0 0
HOEE T H 425 978 468 510 -4 -11 0 0 0 -1 1 ol -10 1 11
HoEEI =T H 691 1,741 849 892 5 6 4 4 0 -1 4 5 3 3 0
HOEEAN T H 741 1,846 898 948 2 0 0 1 1 -1 2 3 1 3 2
HEROH T H 416 998 502 496 4 3 0 1 1 4 6 2 -1 0 1
HOEEIS T H 392 928 451 477 -1 -1 -1 0 1 3 3 0 0 0
HoEEOETH 652 1,459 710 749 2 1 -1 0 1 4 2 0 0 0
HOEEHOSE 3,498 8,372 4,080| 4,292 12 1 1 6 5 25 18 -7 7 14
PEEER 1,499 2,935 1,371 1,564 6|  -19 0 0 of -11 5 16 -8 1 9
FHIAR 324 695 353 342 2 2 -1 0 1 3 4 1 0 0 0
R e — T F 462 968 473 495 -1 -5 0 0 0 0 5 5 -5 1 6
EE g — T 226 477 245 232 2 3 0 0 0 2 3 1 1 2 1
R = T 4941 1,141 567 574 1 2 0 1 1 0 3 3 2 3 1
TEE Py T 599 1,260 593 667 0 -8 -1 0 1 -8 4 12 1 1 0
EEP g R T H 212 524 254 270 -1 -2 0 0 0 -1 0 1 -1 0 1
EER LA 1,993 4,370| 2,132 2,238 1l -10 -1 1 2 -7 15 22 -2 7 9
B RHT— T H 679 1,429 680 749 4 3 2 3 1 0 8 8 1 2 1
EEIARRT T H 699 1,375 655 720 -2 -1 2 2 0 -3 2 5 0 3 3
EEOARRTAE 1,378 2,804 1,335| 1,469 2 2 4 5 1 -3 10 13 1 5 4
RPN 310 854 477 377 -2 —4 -3 0 3 -1 1 0 0 0
WHR—TH 714/ 1,709 851 858 2 3 -1 1 2 0 3 4 5 1
HOOR T H| 1,676( 3,940 1,905] 2,035 5 15 6 6 0 13 25 12 —4 0 4
WHR=TH 839l 2,183| 1,059 1,124 0 -6 -3 0 3 -3 5 8 0 1 1
HHRIT H 498 1,216 583 633 5 8 0 1 1 12 12 0 —4 0 4
HPREEH 3,727 9,048| 4,398 4,650 12 20 2 8 6 22 45 23 —4 6 10
HiR—TH 652/ 1,550 765 785 3 0 1 1 0 -1 7 8 0 2 2
LR - TH 903l 2,187| 1,081 1,106 7 11 -1 0 1 8 19 11 4 5 1
PR =TH 456 971 507 464 —4 —4 0 0 0 -2 1 3 -2 0 2
JbdRA&E 2,011 4,708 2,353] 2,355 6 7 0 1 1 5 27 22 2 7 5
T IROBTHT 318 790 370 420 0 4 4 4 0 -2 2 2 2 0
WIEl 1,622 4,948 2,274 2,674 2 -6 -6 2 8 —4 12 4 4 0
FRE— T H 785 1,829 909 920 3 -1 1 1 0 -3 8 1 1 0




R2.8.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET) ] A ERsH &EH (H) | (&)

FYlE 1T H 7051 1,832 924 908 2 -7 -1 1 2 —4 2 6 -2 2 4
MoE =1 H 633 1,540 761 779 0 2 -1 0 1 -1 4 5 4 5 1
A EN T H 907|l 2,175| 1,062| 1,113 -1 -7 -1 2 3 -5 6 11 -1 1 2
RCENNE 594/ 1,401 684 717 -3 -1 3 3 0 -3 2 5 -1 0 1
MAESTH 414 1,017 490 527 1 0 -1 0 1 0 1 1 1 1 0
e AR 4,038 9,794] 4,830| 4,964 2| -14 0 7 7 -16 20 36 2 10 8
VEPIe S 523 1,118 561 557 -2 -5 0 0 0 -2 3 5 -3 0 3
e —TH 311 675 328 347 -5 -5 0 0 0 -5 0 5 0 1 1
i — T H 589 1,353 654 699 2 -1 -2 0 2 2 5 3 -1 0 1
A gl 900/ 2,028 982 1,046 -3 -6 -2 0 2 -3 5 8 -1 1 2
Eh— 1 H 245 638 298 340 —4 2 2 0 -2 1 3 1 1 0
B — T H 656 1,386 664 722 5 -1 0 1 3 7 4 3 5 2
=T H 416 1,054 532 522 1 0 1 1 1 3 2 -1 3 4
EAE 1,317 3,078 1,494| 1,584 2 1 3 2 2 11 9 3 9 6
e —TH 386 1,005 476 529 1 -1 -2 0 2 -2 1 3 3 3 0
HYE T H 4431 1,109 562 547 -2 -2 -1 0 1 0 1 1 -1 0 1
HHE T H 757!l 1,893 962 931 2 -2 0 1 1 -1 4 5 -1 0 1
W& T B 467 1,073 523 550 0 -1 0 0 0 -1 4 5 0 0 0
B E ] H 731 1,661 824 837 4 4 0 1 1 3 7 4 1 3 2
HHIENT H 219 473 243 230 0 0 1 1 0 -1 0 1 0 0 0
HEOEE 3,003 7,214 3,590 3,624 5 -2 -2 3 5 -2 17 19 2 6 4
<HWE—TH 611| 1,422 699 723 0 3 1 2 1 2 6 4 0 0 0
<HEIL—TH 723 1,527 748 779 1 0 0 0 2 4 2 1 1 0
SHBEIL=TH 504/ 1,138 559 579 -2 -5 -3 0 3 -1 0 1 -1 0 1
<HEWLPTH 523 1,145 579 566 3 6 0 0 0 8 9 1 -2 0 2
<O T H 340 743 404 339 2 -1 0 1 1 -1 5 6 0 0 0
<WEEEH 2,701 5,975 2,989 2,986 4 6 -2 3 5 10 24 14 -2 1 3
WIE AR —TH 791 1,720 862 858 -2 0 2 2 2 7 5 1 1 0
WIEAR T H 475 1, 140 583 557 2 0 1 1 1 4 3 3 4 1
PIEARTSE 1,266]  2,860| 1,445 1,415 0 0 3 3 3 11 8 4 5 1
s 432 822 410 412 7 19 -1 0 1 12 15 3 8 9 1
ek —TH| 1,009 1,664 737 927 2 2 3 1 7 18 11 -9 0 9
e T H 392 684 315 369 -1 2 2 0 -3 4 7 4 4 0
kR =T H 630/ 1,699 794 905 -2 -5 1 1 0 -5 5 10 -1 2 3
sk BRI H 399 838 407 431 -1 -1 1 1 0 2 5 3 —4 1 5
T A gl 2,4300 4,885 2,253] 2,632 -2 -3 6 7 1 1 32 31 -10 7 17
FRIREET 19 53 27 26 0 0 0 0 0 0 0 0 0 0 0
B 781l 1,820 887 933 -1 -5 0 0 0 —4 0 4 -1 1 2
VEEE 275 663 321 342 0 1 0 0 0 1 2 1 0 0 0
e — T H 412 1,090 546 544 4 5 1 1 0 0 3 3 4 4 0
e T H 406 933 447 486 -1 0 1 1 0 -1 5 6 0 0 0
oo B R 818 2,023 993 1,030 3 5 2 2 0 -1 8 9 4 4 0
P — T H 637|l 1,349 662 687 8 7 0 0 0 5 12 7 2 2 0
a1 H 519 1,250 595 655 7 14 0 0 0 15 19 4 -1 0 1
Ve A a1, 166 2,599 1,257 1,342 15 21 0 0 0 20 31 11 1 2 1
P e 286 661 327 334 3 10 1 1 0 9 10 1 0 0 0
BEHIR 229 541 291 250 1 0 0 0 1 1 1 1 0




